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1. Answer all questions. 1wl gl % W it i

2. All questions carry equal marks, 2w gt b o T B

3. Only one answer is to be given for each question. 3. T A AW F @ I A

4. H more than one answers are marked, it would be of| 4 % 8 AE IOV Y o war F g & I A
treated as WIoRg answer, AR HE 1

5. Each question has four alternative responses marked [} - U 9 F A s T R T R
serially as 1, 2, 3, 4. You have to darken only one FAM 1,2,3, 4 3063 R war B et ol
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Answer Sheet using BLUE BALL POINT PEN. I Eg F-T O7 i 9 WEe O 8 e

6. 173 part of the mark{s) of each question will be i JS
deducted for each wrong answer. {A wrong answer | 6. TSE T T OF S 3% @ 13 W EE
means an incorrect answer or more than one answers SR ¢ T FEY ARy HYF 9T Al m a5
for any question. Leaving all the relevant circles or P UF § ol I A B R R uw & defve
bubbles of any guestion blank will not be considered W W S99 F @R B W 9T T4 A
as Wrong answer.) A |

7. After opening the envelope the candidate should [}} 7. H¥-9¥ Sm ud THT usE & Pwm # a
ensure that Series Code of the Question Paper and eI R Tl 1 1] W F J [ 35 I@T
Answer Sheet must be same. In case they are different, RERIREN T8 Al ¥ o gy gf}ﬁiﬂ q7
a candidate must obtain Envelop of Question paper & i &1 zad AE faee O & A | o @

: O.M.R. Sheet the same series. Candidate himself shall & A /e TEU 9v-99 T W & |

5 be responsible for ensuring this. I T | ey federdt s} o &

- 8. Mobile Phone/Bluetooth Devices or any other {J| 8. SIEEe W/ﬁ RaEg e ToENE 99 @
electronics gadget in the examination hall is strictly i 3§ aﬁ%‘;ﬁm b 2 uR Bl o)
dealt as per rules. % gre ol o arEl et @ O ou% s

9. Please correctly fill your Roll Number in O.M.R. I a FN PR B S
Sheet. 5 Marks will be deducted for filling wrong or [} 9. % a1 1wt G svae oUW 3T, THE YT WEE
incomplete Roll Number. T g R 9 TR W A U TR N T

10. If there is any sort of ambiguity/mistake either of 5 9% A T %7 afd ev & Eﬁf%jm !
printing or factual nature in Hindi and English Version ()| 10. 3% f5d ey & < od aiid worad § B
of the question, the English Version will be treated as TFR B HE AT T T GE & g B A
standard. ' 9 & I EIe W B
Warning : If a candidate is found copying or if any Yyl © orre B el Wb g wrer o R
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unauthorised material is found in histher possession, FLR. T IES

would be lodged against him/her in the Police Station and [}| steslt & e ¥y g wd
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FPTeRae & W ISR o BM-AT / @ - § e ferr ood emeTg e o wd yifem B % 7
A fm T e @t wEe w5 wd e g -

ifern_{oarm i TS

(i) &I - q&f ' FT- [T H9 g Mvg F1 e 9E
(i) SIS=HT A HE TR - EheT A ey AT W Y By
(iil) rTvEe A - e w9 TR aferd Jaa 2ol
(iv) TH-gEl He™ TR Tl - faeee oy wEr MT 529 & 9
%c - :

Lo (i) 9w (i) 2. (@) & v) 3. @), () 3w (i) 4. (), (@D 3 ()

Which of the following physical divisions of Rajasthan is/are correctly matched with their
Phystographic Characteristics? Select the correct answer using the codes given below -

Physical Divisions Rock Formations Physiographic Characteristics

i) South-eastern Plateau Archaen Vindhyan Senes Extended part of Gondwana land
il)  Western Sandy Plain Raialo Cretaceous Series Residual of Tethys Sea

i) Aravalli Aravalli-Delhi Series Oldest Folded Mountain range
iv) North-eastern plain Deccan lava Vindhyan Series  Part of Sindhu river plain

Codes -

1. (i) and (i) 2. (i) and (iv) 3. (), (i) and (111) 4. (i), (i1} and (iv}

Trfataa 5 § ®F - o1 995 ORI B 99T TieHl H I HaE & oA TR Y § 78 54
ZSTe ®7

3. AW - @ - 2 - A 4, ST ¥TET - S - eEg - 'l

Which group of the following represents the correct sequence of mountain peaks of Rajasthan in
descending order of their height?

1. Tatgarh - Kho - Bilali - Roja Bhakar 2. Kho - Tatgarh - Roja Bhakar - Bilali

3. Bilali - Kho - Tatgarh - Roja Bhakar 4. Roja Bhakar - Bilali - Tatgarh - Kho

o - Do gl - [ gt i aar 99 R e g o s e w5 gh -
Tt - 1 g - I

(Rl g | GIERD!

A. gFE i) =9, 99, J9E
B. IOHEH _ L i) =MW, B, '@
C. YHyaT 9E iii) &\, TEE, 99
D. FoiyEe iv) 9m, |E, ®Ed
E§€ -

A B C D
1y (@) Gvy (i) (D)
2) G Gv) (i) @
3y @ G G Gv)
4 (G G aGv)
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Match List - I with List - H and select the correct answer using the codes given below -

List - T {Tr-Confluence) List - II (Rivers)

A, Bigod 1)  Banas, Berach, Menali
B. Rajmabhal i1y Banas, Dai, Khari

C. Rameshwar Ghat iit) Banag, Chambal, Sip
D. Beneshwar iv) Som, Mahi, Jakham
Codes -

A B C D
D@ vy Gi (i
2) G Gvy i) 0
3 GG G Gv)
4y (1) i)y ) (v

IO BTV U WA UEST 9 F Ve F B - 91 gafea 98 7 7
1. Aw - =l TRme 2. Cwy - T TOWH
3. BWhw - 9% B 4. BShw - 51F - 9% A%A

Which one of the following climatic regions proposed by Koppen is not correctly matched in Rajasthan ?
1. Aw - Southern Rajasthan 2. Cwg - Nogthern Rajasthan

3. BWhw - Arid desert 4. BShw - Semi - arid desert

T o Tl wery d Gelra g e - o/ FW - U I I B/ B 7 m%ﬁqntf@aﬂ

W T R I G -
0) o7 HEE § UEE S age e S 3 agd Wel o i gan &
ii) ﬁ%mmnﬁm BRI (0 | o o smﬁmwﬁﬁrvwﬁmm:gm%t

iy =ferr - qﬂmqu&m%mﬁﬁﬁwmgm%i
ivy wterl s greEfe® S % anm o fufus ee el o R e
1. (D), (i) - A (iv) 2. 40D, (H) AT vy 3@, () A i) 4. (i) 37 (iv)

Which of the following statements regarding soils of Rajasthan is/are correct? Select the correct
answer using the codes given below -

i) In the Thar desert sandy soils have been formed from granitic and sandstone rocks

il) In the southern part red loamy soils have been formed from granite, gneiss and quartzite rocks
ili) In the south-eastern part black soils have been formed from the erosion of basaltic lava

iv) In the southern part mixed red soils have been formed from the erosion of phosphatic rocks
Codes -

1. (1), (i) and (iv) 2. (1), (i) and (v) 3. (i), (it) and (i) 4. (1) and Gv)

T F o Ay Attt eadi @ ohen s g e R T g e v a5 wd g g -
(i) 9% TEE F g9 TIAE B SRl 9 § daied §.

(il) 9rEs & 99 75 9 110 997, 3iraa gfifs a9 o9« o0 8 90 9" # |

(iii) ZaToT - Ty FaraET g9 AIve S U7 un Sy B

(iv) "ty rreee % o fafae s o €

Eﬁ’a’,,

1. (1) 37 (i) 2. (i) 3T (i) 3. (i) &AW (v) 4. (D, (i) A7 GiD)
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6  Examine the following statements regarding forests of Rajasthan and select the correct answer using
the codes given below -
1)  Dry teak forests are concentrated in southern part of Rajasthan
i1) Teak forests are found in areas having average annuat rainfall of 75 to 110 cm.
ii1) Sub-tropical evergreen forests are found on Mt. Abu
iv) Forests of western Rajasthan belong to mixed deciduous forests
Codes -
1. (i) and (i) 2. (ii) and (iii) 3. (i) and Gv) 4, (i), (i1} and (iii)

7. HBUA(A) - AR G o peadl s § ASRmiEIn & U #l HiRg el 2
IV (R) - STEH! g9 &0 gl TR § e - ofyem | oge - gg @ i sfaiess e g &

%E_

1. (AR (R)ZMT T8 &, 74 (R) (A) @I Y07 =7l &7 & |
2. (A)3 (R)IAT WE E, g (R) (A) &1 wiifsiss =me &eel # |
3. (A)TEE g (R)TWa ¥ |

4. (A)TEE Y R TEE

~d

Assertion (A) - Aravalli mouniain range restricts expansion of desertification in neighbouring areas
Reason (R) - Aravalli mountain range extends uninterrupted from south-west to north-east throughout
the state

Codes -

1. (A)and (R) are both correct, and (R) fully explains (A)

2. (A)and (R) are both correct, but (R) explains (A) partially

3. (A)is correct, but (R} is wrong

4. (A)1s wrong, but (R) is correct

8. %A I g F T F GEY I P - TG T FA - W E 7

1. oI afern fEE gve 2. 9% Oiva §EE e

3. 9% HYE YE N @ 4. TR R - SiEEr dEE Ee
8. Interms of area which one of the following is the largest agroclimatic zone in Rajasthan ?

1. Humid Southemn Plain 2. Arnd Western Plain

3. Flood Prone Eastern Plain 4. Trrigated North - Western Plain
9. W - 1% T - 11 F gofed Fife g o R T ge @ v e 9 o g -

& - | o™ - 10

(TR & &) (T &I )

A, I - qivEd iy R

B. zi@m - vigem i) HEHE

C. uiseH iii) T

D. & - gd - megeal iv) e

w -

A B C D
LG G @ Gv)
2. () () @) (v)
3.G) () Gv) (i)
4. Gv) G G @
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9. Match List - I with List - Il and select the correct answer using the codes given below -

List - T (Areas in Rajasthan)

List - II (Cow Breeds)

A. North - west 1 Gir

B. South - west it)  Kankrej

C. West iii) Tharparkar
D. South-east-central iv) Rathi
Codes

A B C D
iy (1) @) vy
(1) Qi) (i) v)
(iy (i) Gv) (i
(iv) (i) (i) @

.{;:».L;Jt{)i_——‘

10. T - Dol g - 1 gafee Sifre o 9/ e au g @ s e wd Iee i -

g - 1 41 - 11
(Feeed ofvararm (Fem

A, TRA VI
B. Tl iy &t
C. wErd iii) e
D. TGEA iv) HEER
q‘ja’-

A B C D
1L (iv) iy G @
2. Gl (v @) Gy
3. ) vy G @)
4. @ (v) G (i)

10. Match List - T with List - II and select the correct answer using the codes given below -

List - I (Irrigation Project }

List - I1 (District)

A. Gagrin i) Bundi
B. Takli ity  Baran
C. Lhasi 1) Kota
D. Chakan iv} Jhalawar
Codes

A B C D
(iv) (i) (i) (1)
(i) (v) 4) (i)
(i) Gv) () Q)
(i) (v) (1) (i)

F b e

r

11, B e Wi § woraE F B 8 ¥ a0 - 8 uamRe wvdl (5 ) § ufyes oF g W

Tp @M AT P
1. T, sifaet, mge

TTAETE, S, FEE

2.
4, FEUE, AETE, TG, O F AmEngy
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Central Ground Water Authority has restricted exploitation of ground water in which of the following (9

11
administrative blocks of Rajasthan ?
1. Behror, Osian, Mahuwa
2. Surajgarh, Desuri, Deol
3. Bhinmal, Todabhim, Toda Raisingh
4. Behror, Bhinmal, Surajgarh, Dhond and Shrimadhopur
12. TSR B 98 TCE TN i us & e 7 Hifa -
National Highway of Rajasthan which is confined to one district only
1. 11A 2.79A 3. 76B 4.3A
13, =y - T gE - 1A g #ifs qur S e o e #oadm B T8 s g -
A - 1 Tdr - 11
(@) (FTT &)
A, HET UF T D ERGIGEIEL
B. &R ii) e
C. T i) o BHETE
D. dfar iv) deer
@ -
A B C D
o (i) vy (» (1)
2. {uiy (1) (4v) @)
3.0 (iv) (1) (i) (i)
4. (v)y (i) (i) @)
13. Match List - [ with List - 1I and select the correct answer using the codes given below -

List - I (Minerals)
A. Lead and Zinc

B. Tungsten
C. Manganese

D. Copper
Codes

A B C D
1L Gi Gv) () (i)
2. (i) (i) vy (@)
3. vy (i) (i) (i)
4. (iv) (i) i) ()

List - II (Minining Areas)
1) Leelwani

i1} Kolhan

111) Gudha Kisoridas
1v) Walta

14, T8 - AT TEH0T § QAT 99 6 WAV % T o [eige e e ST gu A B

1 T T U7 YET H e S & [ Gy AT s orde UeRe T i e e
TUERT E |

i) weEsTRr T § ST Tt Sdur gy 459 S0y U9 g B E |

i) & TG VEeA & ey Shad §YET g0 T Y 9HIETRT FE 1 S e e E

v) WIS AT B EEYOTE & IEae g9ul F R Ui F e WEes | W
FTENE E |

Eﬁa- = 5

Lo, Gh 3 Gv) 20 (), (b 3t diD) 3.

(ii), (i) 37 (v) 4. (@) A7 (v)
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14. Examine the following statements regarding use of cross staff in chain - tape surveying and select
the correct answer using the codes given below -
1)  For taking accurate offsets on chain line use of optical square is better than ordinary cross staff
i1} In optical square both the rectangular mirrors are inclined at 45° to each other
iii) For maintaining proper alignment between two chain lines adjustable cross staff is used
iv} Mechanism of optical square is based on the principle of successive reflection of a light - ray
from two concave mirrors
Codes - ‘
1. (D), (i) and {(iv) 2. (), Gi)and (i) 3. (i), (iii) and iv) 4. (i) and (iv)

15. 9 - wwrn & ghaf qur ussl § s A % e e d # @ - O J0e e F A e B/ F 7

1. Hed v ey JiE 2. et oY e aiE
3. T B S | 4, T A
15. For measuring distances in miles and furlongs and area in acres which of the following chains is / are
used ?
1.  Metric and Gunter’s chain 2. Engineer’s and Gunter’s chain
3. Steel band chain 4.  Gunter’s chain

16, ‘FrreR’ WS UF GHTA & SR 97 WY B g8 Fa BT 9 A g0 ST gy guy nfd
o food oher & 7
1. st oty 2. = wverwe 3. @iy 4, . HEAN

16. Which Scholar, on the basis of a copper plate titled ‘Broach gurjar’ has asserted that the rajput were
the descendents of the yuchi tribe and they were related to the Kushan tribe?
1. George Thomas 2. Dr. Bhandarkar 3. Cunningham 4, Dr. Kanoongo

17. = Fafgs &oe § 9 S / &9 § Fud diva Ieere B R J 98§ 7
i)y % 1273 £ § dwpT W § Ieel ¥ | i) eI 5Ee J9REER o |
i) zo faedt Semw & | ) 3 FUs § I Tl BT 5O SR §
1. (D), (it) X (Qv) 2.0, G Gi) 3.6, @i e vy 4 @), (D), Gi) 3T (Gv)
17. Which amongst the following Statements is / are true about Chirwa inscription. '
1} It is inscribed in Sanskrit Language dating to 1273AD.
ii} It’s author was Ratnaprabhsuri.

i1} It’s was sculptured by Dehlan
iv) It mentions that the Rajputs originated from the agnikund

1. (i), (i) and (iv) 2. (1), (ii) and (iii) 3. (3i), (i) and (iv) 4. (4), (iD), (iiij and (iv)
18. e foremera ® i ® ‘gErier SR &E T E 7

1. A e 2. M HY @ e

3. femnferan foramerg 4, oot e
18. Which inscription mentions that the Chauhan were ‘Vatsya-gotra’ brahmins?

1. Chirwa inscription 2. Inscription of shring rishi

3. Bijoliya inscription 4. Inscription of Aprajit

03-A 8
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19 s damo e /e R R el S an § 981 &)
i) WY T —— ST AT @ JE 9 gaRn
i) ol vy — e am @Y e U usEey
iti) 7T FAWT - TF AT T YO W AT
ivy  fofer usrEelt —— TG 919 1 I J& THESl

1. (D)3 G 2. (i) AT (1v) 3. FHEE (i) 4. (1) 3R (v)

19. Which amongst the following statements is / are true about Hindu Festival?

1)  Akshya Tartiya ~ Vaishakh month Shukla Paksh Tartiya
i1} Nirjla Ekadashi - Jyeshtha month Shukla Paksh Ekadashi
i1} Akshya Tartiya - Chaitra month Shukla Paksh Tartiya

iv) Nirjla Ekadashi - Aashadh month Shukia Paksh Ekadashi

1. (i) and (ii) 2. (iii) and (iv) 3. only (iii) 4. (i) and (iv)
20. gz W (e ¥ faw g9l gu sfeg e gu E 7 |
1.5 (9 2. 3 (&) 3. 4 (am) 4. 7 (am)
20. How many * Maukhri - yup’ inscriptions have been discovered in Barwa village in Kota?
1. Five 2. Three 3. Four 4. Seven
21. ¥R 9 gedM SArseA e & fhe faeEr SAfa & weed g § g & o 7
1. a0 @i 2. 917 S o 3. 97 I @t 4, 97 gEwE 9E

21. Which rebel army Commander of Alauddin Khilji was given Shelter in Ranthambhor Fort by Hammir?
1. Amir Khan 2. Meer Alabande Khan 3. Meer Juber Khan 4. Meer Muhmmad Shah

22. gHfad Hife |
T sE G5 (TE)
A) TEE gHEN iy e
B) “E@ 9%EE iiy afaer (dearsn)
C) TUEH! GREH i) e
D) iy geEy iv) ErRET
?‘g_

A B C D
1. G G Gi) Gv)
2. () @) (i) Gv)
3.0 G G @ Gv)
4. @) (v) (i) Gi)

22. Match the following: Sect : Main Centre or Head quarters

A} Gudhar Sect i) Jodhpur

B) Nawal Sect it) Dantara (Bhilwara)
C) Charandasi Sect iit) Delhi

D) Alkhiya Sect iv) Bikaner

Code -

A B C D
(H G G (@(v)
i) () @) @Gv)
(i) @) () @Gv)
() Gv) (D) (i)
03-A 9
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23. HErS A EOl ey o4 7 '
3. OF TR %7 4, foard v oy ofwe
23. What was ‘Damani’ in Marwar?
I. A type of Local Saree (Odhani) 2.  Decorated Shoes
3. One revenue tax 4. An instrument of irrgation
24. WEFIT HFAT EE YA 0y HiE o s wdi § feve ¥ 0 .
1.7 (T 2. 4 (®R) 3. 9 (A 4, 5 (9=)
24. Sangeetraj which was composed by Maharana Kumbha is divided into how many parts?
I. Seven 2. Four 3. Nine 4. Five
25, TSREE § YIS RN Y WA e ¥ 7
T ot ) -
2. =Eul Fwl erEd
3. O T e

25.

26.

26.

27.

27.

28.

28.

29.

In Rajasthan when is the ‘Gurla Festival® Celebrated?
I.  The Ashtmi (eight’th day) of the Shukla Paksh of Shravan

2. The Ashtmi (eight’th day) of the Krishna Paksh of Shravan

3. The Ashtmi (eight’th day) of the Krishna Paksh of Chaitra

4. The Ashimi (eight’th day) of the Shukla Paksh of Bhadon

T, S, Beof S G e w6 By A § Ay e 27 )

. oar gt 2. WY e 3. HaE 9 4. wEY7
Rama, Natha, Chajju and Sefu are associated with which of the following styles of painting?
1. Alwar Style 2. Jodhpur Style 3. Mewar Style 4. Jaipur Style
17th July 1946 &1 &9 70 § ‘Hdogs B g=n 72y 7

1, @R 2. IHYY 3. g 4. 3EIY

In which State was *Birbal day’ Celebrated on 17% July 19467

1. Bikaner 2. Bharatpur 3. Jaipur 4. Udaipur
‘Fererar w1 e o e T ¥ 7

. HrEn g e 2. e gy EE e

3. HPEY e e 4. THHOT AET

Who is called the *Gandhi of Chirawa’?
1. Sardar Harlal Singh 2. - Seth Ghan Shyam Das Birla
3. Master Pyarelal Gupta 4. RadhaKrishna Bohra

i | iR 919 1w 4 ey T w6 ST aes SR of snHar S gael i e
qM % o feee =l & S R yfte off 70 o pue feeR wer B 7

1. &% giaq 2. USLSH &g

3. TARETA AEE 4. TETAET AW

03-A 10
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“In History the execution of Tantya tope will be treated as a crime of the British Government and the
geperations o come will ask who had sanctioned this execution and who had confirmed it7” who
made this statement” ‘

1. Captain Showers 2. A.GG Lawrence
3. Jawaharlal Nehru 4. Madan Mohan Malviya
30. wwaTe dfeden HratEer AEEE w1 A a7
1. 1938%. 2. 1928%. 3. 1941¢. 4. 1934 %
30. In which year was the Marwar public society ordinance issued?
1. 1938 AD 2. 1928 AD 3. 1941 AD 4. 1934 AD
31, gt & oiR € 7
A) FEwRE vd ey it B) fy% ud famimg erfrat
C) SHEEE T 3FE aiwal D) Ireqld smEe UF Fieee siehat
1. AT B HEm 2. ‘A, B'UH ‘D’ Ha
3. B, CUE D FEaA 4. ‘ALBHEE C HEA
31. The powers of the President are :
A) Executive and Legislative Powers B) Judicial and Financial Powers
C) Emergency and Martial Powers D) President’s Rule and Defence Powers
Select the correct answer using the code given below:
. AandB only ' 2. A,BandDonly
3. B,Cand Donly 4. A, BandConly
32. R H B 0% A E | A e |
I, 7T T T % RO 1950 ° @ v e |
2, I GETd H AEer S99y UF Yy g
3. I g & 9 SEy E 7 |
4. TTO T H UH e q@y o E
32. One amongst the following is incorrect, find out.
1. Rajasthan High Court was established in 1950
2. Territorial Jurisdiction of High Court is Jaipur and Jodhpur
3. The Seat of High Court is at Jodhpur
4. One bench of High Court 1s at Jaipur
33. T ®F ° B TE S E 2
. e e F 9 2015 9% 100 g9 o ao
2. #AE HelEE 1956 § A 2015 9% WA % aiEn § 29 79 @iW 7 B i mee #
3. A T I TR T
4. TSR P IAGTY G 7
33. Which one of the following Statements is incorrect ?
1. Upto May 2015, the Indian Constitution has been amended 100 times
2. The Territory of India, after Seventh amendment 1956 upto April 2013 consists of 29 states and
7 Union Territories
3. The Capital of Gujarat is Gandhinagar
4. The Capital of Gangtok is Sikkim
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34, Hﬁraﬁ%asmﬁaﬁmi%zﬁﬁwwgé‘smﬁr zﬁfmqawaw‘awrm J 1 8 | e uaer e ?

34.

35.

35.

36.

36.

3.

38.

A Frer s wle o7 oW e
B) T gEE A &1 ST |
C) varddl @l o (i @ g & foo fEe snam ge & |
A BT T e % SR W ORI g |
Fc
1. A Eaw 2. ‘AT ‘B’ HEd 3.BUd 'CCFad 4.°A, B ug O
The Constitution 73rd amendment Act 1992 envisages a Three tier system of Panchayats in the
Country, provides for which of the followings?
A) Constitution of District Planning Committee
B) Constitution of a State Election Commission
C) Appointment of a Finance Commission to review the financial position of the Panchayats.
Select the correct answer using the codes given below Codes.
1. A only 2. A and B only 3. B and C only 4. A, BandC

TETId T R §

1. =" e w5 2. WG 99TET T

3. WEE ESTET & 4. TEIOT RIEE 9IS @
Panchayat Raj is a system of

i.  Local Government 2.  Local Administration

3.  Local Self - Government 4. Rural Local Self Government

1 & U WEE BT B,

1. =999 UM o9 %] 9% gAN % [0 SoEr] § |

2. UMW Hge duEd & AEET & JUR & U SeeE B

3, EIUE YA FHHETE O G9THMG TOEer e MR vEd E
4, TIUH TG HYER 6 GdEd U4 Ve SuRed HiEn ¥

One amongst the following is incorrect, find out:

1. Carpanch is responsible for convening the meetings of Gram Sabha

2. Gram Sevak is responsible for the maintenance of records of Panchayat

3. Sarpanch exercises administrative supervision and control over Panchayat staff
4. Sarpanch furnishes reports and record to State Government

IR o< s 1 5 1 oA 2. HEdyaes

3. ~gmarfEmar 4. Tl Ry @ weafE

Wheo 1s the Highest Law Officer in India?

1. Attorney General 2. Advocate General

3. Solicitor General 4. Secretary General Law Department

U T F TG & T H T sy ¥ e g a8 § 7

A) TR Y wETE @ otRat 2ad ffE §

B) 3@l 5y 35 v guf BT e

C) TE I UE W U # A9 o & a9 e ¥ |

D) z9h TTEETT & BEO GHaW § e §

T U 20 e ¥ AyE W IE I & g |

. ‘A, 'B'Ug ‘D 2. CALCBUE CT 3ALCTE DY 4. ‘A,°B’,‘C’ W ‘D,
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38. Which of the following Statements are true about the Governor of a State?
A) The Executive power of the State 1s vested in hios,
B) He must have atiained 35 vears of age
C) He holds his office at the pleasure of the President
D) The grounds for his removal are laid down in the constitution

Choose the correct answer on the basis of Codes given below.

1. A,BandD 2. ABandC 3. A CandD 4. A,B.CandD
39. a1 & 7 U Hiftrer st w8 7 |

|, Wi ST @ AR 2. GEpH U9 f9en T e

3. G B UYAT SH0 TEH B AR 4. e TEOEAT B R
39. One amongst the followings is not Fundamental Right.

1. Right to Constitutional remedies 2. Cultural and Educational rights

3. Right to uphold Sovereignty of India 4. Right to freedom of Religion

40. IS R UE [ e 6 6y ¥
The period of first Legislative Assembly of Rajasthan is
1. 1952-57 2. 1951 -56 3. 1954 -59 4. 1953 - 58

41, Uz qEd] U WgE a9 & H @El E | g8 o0 afafge e M a3, 9 9E ue 99 ST
ARG IR L Tt S e e Rl et e e e o i e )
1. #HTe, I TU7 FEad 2. IO, RgdE U7 7
3. IO, 9O 9€U 3Ede 4, T, SHOW 99 T30

41. A child is standing in front of a magic mirror. She finds the image of her head bigger, the middle
portion of her body of the same size and that of the legs smaller. The following is the order of
combinations for the magic mirror from the top
[.  Plane, Convex and Concave 2. Convex, Concave and Plane
3. Convex, Plane and Concave 4.  Concave, Plane and Convex

42. Tt e gite 2w A difes =l @1 @ We 99 & g 80 99 30 W R | 29 a9 B HaieE e
% fo omayaes oW T gl TuT ermar B0 | :
1. 3T« @9 + 1.25 D &Ha1 H 2. FFE W - 1.25 D sEar @
3, IO@ & - 1.25 D {991 w5 4, AT @ 4 125 D e #

42. The far point of a myopic person is 80cm in front of the eye. The nature and power of the lens
required is

1. A convex lens of power + 1.25 D 2. A concave lens of power - 1.25D
3. A convex lens of power - 1.25 D 4. A concave lens of power + 1.25D
43, Tt Terger eymrenel vy el aivenfern % e graw 43 o _
1. o3, e # 2. o fo @l 3 WH W gEA § |
3. o B ol S WM 9T e B 4, m Taegell W HA B R
43. The magnetic field inside a long straight solenoid carrying current
1. Is zero 2. Decreases as we move towards its end
3. Increases as we move towards its end 4. s the same at all points
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44,

44,

45.

46.

46.

47.

47.

48,

48.

49,

50,

50.

Ti e Ft mﬂmgﬂhﬁﬂﬁm%ﬁm% vt BT ¥

I i (N 2. Ebfe B 4 ‘

3. kRl ?r’“m%m &) 4. whdfElmm ogrreiio R
The Ti plasmid used in genetic engineering is obtained from :

1. Bacillus thuringiensis 2. Escherichia Coli

3. Agrobacterium Rhizogenes 4. Agrobacterium Tumefaciens

BT 3RIE9 o HERET U% e 8
. EEHIEeET 2. WF 3. WSl e 4. ¥

. Hormone Production is a function related to

1. Hypothalamus 2. Pons 3. Hippocampus 4. Medulla

I (A= v G Lt
1. 1007 2. 110+ 3. 120FF 4, 1308+

The life span of RBC is
i, 100 days 2. 110 days 3. 120 days 4. 130 days

form fefvar foromoy & & bt oW STET T IO &9 8 7
1. izar fewngg 2. F - 4 faum 3. MSZ - fammy 4. TaEEs R 40

Which of the following viruses causes common cold ?
1. Rhino Virus 2. T4 Virus 3. MSZ Virus 4. Simian Virus 40

e foftge & B ¥ WET F Fiesl iy 99T SR ¥ 7
1. O9E9 9WH 2. HEEUTH 3. i 4, Taddfam

From which one of the following plants, the insecticide pyrethrum is prepared
1. Cymbopogon 2. Chrysanthemum 3. Tephrosia 4. Velivera

T pn AR, WE B A - & B O 9 H e ol ¥, ag R sy s M o ® | o T8
n SRS S @ o A A g gt A | -

When # resistances each of value r are connected in parallel, then resultant resistance is x, when
these n resistances are connected in series, total resistance is

1. nx 2. rnx 3. xn 4. n’x

T HieEE B E
L yreEgfer 2. UASIE 3. feerteg 4. &7

Antibodies are : .
1. v-globulins 2. albumins 3. Vitamins 4.  Sugar
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51. s Fafee affar @ ANH (g) + 50,(2) — 4NO(g) + 6H,0(g) T2 & |

A) Freme sitafear = B) wdAr AAMfRar @

C) ST AT i D) werFm B @

1. (A)aur (D) 2. (B)aw(C)

3. (A) U (C) 4. (C)daur (D)
51. The following reaction is : 4NH,(g) + 50,(g) — 4NO(g) + 6H,0(g) an example of

A) Displacement reaction B) Combination reaction

C) Redox reaction D) Neutralisation reaction

1. (A)and (D) 2. (B)and (C)

3. {A)and (C) 4. (C)and (D)
52. ISTEFE EM H ET B | _

1. 50% @ 2. 18% AM 3. 60% G 4. 75% AW
52. 18 carat gold contains :

1. 50% gold 2. 18% gold 3. 60% gold 4. 75% gold
53. & oy SeT §, ey § sy fage a9 §

1. A 2. uH-

3. 2 & wver H e ufted T8 g 8 4. IR H OF wE AEL

53. In DC generator, the electricity produced in armature is

1. DC - 2. AC
3. Armature is not present in DC generator 4. None of the above
54. VI WHM T 41 § YU el pusen d SR L A ae sifteraw & e
1. el O O3 e STeay 8 2. BT U G W § e @l @7 SgAed &

3. IR 92 vy § URadd o @ oW € 4. IWEE § B A6

54. EMF induced in a coil rotating in a uniform magnetic field will be maximum, when the
1. Flux linked with the coil is maximum 2. Rate of change of flux linked is minimum.
3. Rate of change of flux linked is maximum 4. None of the above

55. 1 5 9 {959 7T %1 RNA, RNA SH&607 § 919 ar & 7

1. m-RNA 2. t-RNA

3. B2 MHHE™A RNA (SnRNA) 4. =i v RNA (hnRNA)
55. Which of the following types of RNA participate in RNA processing

1. m-RNA 2. t-RNA

3. Small nuclear RNA (SnRNA) 4. Heterogeneous nuclear RNA (hnRNA)
56. %mﬁﬁaﬁﬁmﬁmfm@ﬁ%:i

1. ey 2. WA AT 3. FUA T 4, @7 U, U,
56. The source of energy in an ecosystem is

1. ATP 2. Sunlight 3. DN.A. 4. R.NN.A.
57. vigiaw 9 @ g uew §

1. =R 2. EE9 3. &eH 4. Ow_
57. Chief constituent of natural gas is

1.  Methane 2. Ethane 3. Butane 4. Propane
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38.

59.

39.

60.

60.

61.

61.

62.

62.

63.

63.

64.

U 4 T8 &) poser § Gfta [ a1 99 16 9we B | am % aivEes @ 3w BRT

An EMF of 16 volts is induced in a coil of inductance 4H. The rate of changs of curent must be

1. 64 A/S 2. 32A/8 3. 16 A8 4. 4 A8
@b om A St ARy .

. HLV®#H 2. HET P 3. o I B 4. T @
PCR is used to detect _

1. HV 2. Cancer 3. TB 4. Cholera
oTiT F HEd A vEd A (T A Eed ¥ | o

1. ey gwe 2. iR 3. gedrd T 4. few

Which of the following is the largest blood vessel in the body ?
1. Aorta 2. Capillaries 3. Pulmonary Vein 4. Heart

AR [Em ¥ 9 & ¥997 96d § | oad ®YF O e g 8F a1 ey e 7
HET # SRS gedl # |

ST W Al B Y 9T Hed &

TS 91 e © |

stenfie gite Tamite B9  avnndt & o] T ¥

BN g

Industrial development increases employment opportunities. Which of following inference can be
drawn from above said statement.

1. Recession increases unemployment.

2. Purchasing power decreases of uncmployed person

3.  Unemployment increase recession.

4. There is negligible problem in the industrially developed nations.

el o Y ¥ S w9 & ¥ | Y ¥ See $uE TE g
. P HA Y E | - 2. TW Y AW E
3. g i g &R E | 4, TF A

All dogs are asses and all asses are bullocks,
which of the following statement is correct.

1.  Some dogs are asses. 2. Some asses are bullocks.

3. All asses and dogs are bullocks. 4. All the above.

AT W | Il ST E AfI W RR § | T e S EeE € T - N
| T e A T vae e 2. HIHHE WEE N TR TR A8 §

3. ATER wE e g e R A AR E 4. W wpel 9 @ JE @ w6 E

There is less percentage of passed students in the government schools. Above statement indicates that
1. There are no school buildings in government schools. 2. Government schools do not have good libraries.
3. Quality education is not given in government schools. 4. Government schools have less play-grounds.

e F S0 greg @ ar E 1. e M, 2. HeTEH 3, T 4, I S,
1. @ T 2. TR 3. HIEA 4,

Which one is odd word in the following 1. Cauli flower 2. Mushroom 3. Carrot 4. Potato 5. Brinjal
1. Cauli flower 2. Carrot 3. Mushroom 4. Potato
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65. FHW T HiT a7 § | d

1. qeEt, 2, o 3. AN 4, Y

[ -] 2. g9 3. HTE 4, g
65. Which one is vdd word

1. Earth 2. Moon 3. Mars 4. Mercury

i. Moon 2. Mercury 3. Mars 4. Earth

66.

67.

68.

68.

69.

69.

70.

T4

71.

1 i
R x=243 T A \/;Jr‘jx H UM B P If x=2++/3 Then Value of ﬁ*fj}“- will be
L. 3 2. 6 3. V6 4. 6

a1 TS 6 gu ® AT 68 F AT I oW & g9 36 &, A1 TAS JOEEE N -

The sum of square of two numbers is 68 and square of the difference of them is 36. Then multiplication
value of the two is.

.16 2. 32 3. 58 4, 30

oty sfedl %, B, T, O 597 . W bR UF 99F & | o

i) ‘@, @ YACTE WG T |

i)y ‘7 HEy wE1E |

) W W e W W H o § | 39 OO & oW e geRi @ 3w 47 | 3R HE A
1w 2. w 3. g 4. B’

There is a group of five persons, namely of A, B,C.D & E

i) ‘A’ 1s shoner than “B”. But taller than E

1) ‘C is the Tallest

iii) ‘D’ is shorter than B, but taller than ‘A’. Reply the following questions on the basis of above

information.
Who is the shortest among these?
. A 2. ‘B’ 3 D 4.

Y9 HET 68 H &1 T gE % AU 9014 0 34 W A g WE W RH § 7

. &% 2. " 3. " 4. B

The information given in question No. 68 tell that who is at second position in height.
I A 2. B 3. D 4. ‘E

g T 68 H &7 T gE % o wY gad % Ol
' 2. @ 3,07 4. 9

| B
As per information given in the question No. 68 tell that. If all five persons stand according to

height, then who will be in mid of them? _
LA 2B 3. ¢ 4. D

iR S e T R I F TR @I PAQHF AT EP QA TR IP-QET 3 &
PQ#H T EIPXQHE I EPQAH MEEIPQFT AU EPLQH q®A T |
A+B-C %t 3714 gar |

L'CARRmEl 22 CATEEL 3CCARIEE| 4 C A H WE
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71.

72.

72.

73.

73.

74.

74.

75.

76.

77.

After going through the following information give the answer to the questions given below,
P} means P is son of (.

P-(Q means P 1s Wife of . P X Q means P is Brother of Q and P + Q means P is Sister of Q..
A+B-C shall mean.............

I. ‘C’is Father of ‘A’ 2. *C’is son of ‘A’ 3.'C’is Uncle of ‘A" 4. ‘C’ is Brother of ‘A’

usT dEn 71 H & T gEer % ST o g0 % ... AXB + C @y oo gam 7
1. A3BaNE H 9g-ue # | 2. ACH fuar g |
3. B,AFI ST ¥ | 4. AFARCHIg § 9E 9fgw T |

As per informations given in question No. 71

tell that A X B + C shall mean that

I. A and B are Brother of each other 2. Aisfatherof C

3. Bis Sisterof A 4. A and C are Brother and sister to each other

T HT g F S € % 0 36% St W A 9 | e 24% o Wi Y o 9% 9 @i §
srdiol gan| Y9v @t quifes o1 ?

It was compulsory to get 36% marks in a paper to Manoj to pass it. He got only 24% marks and
failed by 9 marks. Total marks of paper was-
1. 66 2. 75 3. 50 4. 60

U B FOHE A9 a5l 1,76,400% | 3 5% @1 57 | uigad ghs 5l R 1 2 9d 4d 9 @
T 4y,

Present population of a town is 1,76,400. It increased by 5% annually. The population of Town
before 2 Years was.........
1. 150000 2. 160000 3. 175000 4. 180000

T E] I Rs. 1440/- § Fg 9 10% @i B+ 8y & | 38 fpem 593 d S=r 99 f6 15% ® A 8 |
There is 10% loss if a watch is sold for Rs 1440/-. At What price it is to be sold to get 15% profit.

1. Rs. 1840/ 2. Rs. 1850/- 3. Rs. 1800/- 4. Rs. 1860/-

TS A6 Uh 2] B 16 HE H 9T TaaT € | W OUE 76 § B¢ 99 & B0 59 2482 § WY g ¥
afe € gfy Wi & A 9% ve & Reaw g2 § e € sl |

A tap can fill a Tank in 16 hours. Due to a hole in its base it is filled in 24 hours, If tank is full then
in how many hours it will be empty through the hole.

1. 40 2. 36 3. 45 4. 48

for 59 &1 10% afd® 27 & 2 99 & g%dle @ Rs. 420- 590 & | 59 99 97 T &2 9 399 &1
I = B

Two years compound interest at rate of 10% per annum for an amount is Rs 420/- What will be the
simple interest for 3 years for the same amount at the same rate.

1. 500 2. 550 3. 600 4. 525
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L3 2. S 3004 4. 349 H EE A

247

If difference of cube and square of a number is 100 and difference of square and number 13 J} then
value of number 1s

I. 3 2. 5 3. 4 4. None of these

qmqﬁwaﬁaﬁmaﬁfﬂ‘@:SQQPﬁsmzﬁq A e B ower wE g oapy S EeT A 02
fop |1 0t g0 7 HIAT E | AT G W A ¥ “
1. 1S ger 2. 2fdrofader 3. s o ser 40 2.5 Bea ofE g9

If a sailer sails 12 km distance within 5 hours against the flow of a river. It he sails 22 km distance in
same time along the flow of the river. Then velocity of the river is... ‘
1. 1km/ hour 2. 2km/ hour 3. 1.3 km/hour 4. 25km/ hour

aar o e gd e REER v get @l ws @A R ] it Ay e dd e R

Circles of radius r touches each other as shown in the figure.

e

The area of shaded portion will be

1. 5/7r
2. 377
3. 677
4. 477

31 UET U ® FT 16 EF § QU e o § | | e 2 6 e few o ooew aw 8 Auy
T AT W O9 B el T e 9 @ | ‘
1. 8few d 2. 10fwH 3. 9faw #H 4. 7

A work is done in 16 days by 8 labours. They worked together for 2 days and after that 8 additional
labours joined them. The rest work will be finished by them in ...
1. 8 days 2. 10 days 3. 9days 4. T dave

T 3THA U B Bl 16 92 H, A sre 20 9e § "yr Ay s 24 €98 0 @y o msd B AR
ey erer g1 Teban Forerel wedt w9, 777/~ TRl | wEh A v A femn A
1. & 213/ 2w 252- 3. %280/ 4, H 315/-

A work is finished by ‘A’ alone in 16 hours, ‘B alone in 20 hours and ‘C” alone in 24 hours. They
worked together and finished it and got Rs 777/- as a wages. The share of "B’ in the wages will be....
1. Rs213/- 2. Rs 252/ 3. Rs 280/ 4. Rs 315/

U i @ A gonet w wyl awr ow Wie? B & W 8 AN Sril 9T wT e e o

?)’ \ 1 1.7 it ey 2 2% ot e,
| e, 4 -
K / 3, 1% it e, 4. -1t G
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83. The area of a shaded portion formed by a circle of radius one meter with in a square touching its four
sides will be......

¥/ /s
1. 1-— Sq.mits. 2. 2-— Sq.mts.
y ) g.1nts 2 (.mits
1 meter

—

v 3. L% Sq.mts. 4. m-1 Sq.mts.

3

(2.3) +(0.3) (2.3 +(0.3)
(23 -0.69+(03) 7 o (2.3)" ~0.69+(0.3)

84. has the value-

.20 2. 24 3. 26 4. 22

85. I BIE! ¥ BIET HedT T HU FA9H 15,18,27 U1 35 % 9F & 9 9 99 = -
Find out the smallest number, if it is divided by 15,18,27 and 35 we get 9 as remainder.

. 1910 2. 2190 3. 1890 4. 1899
86. TH I @ TE AT F 50% 3hE HF 97 3T eEER d g T -

If a side of square is increased by 50% then its area will be increased by

. 100 % 2. 125% 3. 150% 4, 225 %

87. & % U HY T a4 F G © | 39k TG 6 T 48 T YR Y AW 140 % | A1 36k wE el
Y E |
Hart has some cows and some cocks. Their total number of heads is 48 and legs is 140., How many
cows he has?

L 20 2 2 3. 26 4. 24
(04)" +(0.6) (0.4) +(0.6)
% (047 04x06+(06) T TTET L (0 04X0.6x(06) M the value-

1. 0 2. 1 3. 2 4. 3

89. wmaﬁm@a@ézﬂﬁrg{&1170%%:%M@%eemww%zwsme%% ¥

A1 aga & T g W afaet g et i
1. 450 e 2. 550 ey 3. 650 HE 4, 750 HeT

89. The Distance of an aeroplane from Aerodrome is 1170 meter. It make angle §° from runway and

’ .o 12
value of sin 9 = ITE What will be the Horizontal distance of the Aeroplane from Aerodrome.
1. 450 mts 2. 550 mts 3. 650 mts 4. 750 mts

00. TR 9 Gt 5:7:9 % I | § A IR FgHH THGEd 1260 ¥ 7 9u9 ¥ ge &l -
If three numbers are in ratio of 5:7:9, and their LCM is 1260. Then Highest value number is
1. 63 2. 54 3. 45 4. 36
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91. T 4ol &9 H YT HEd o’ oA 1,2.4, 7, 11, 16, ..

What will be the next number in the following series 71, 2, 4,7, 11, 16,...
1. I8 2. 35 3. 22 4. 25

92. =1 2ol w9 o sl g o= ey 3, 3,6, 18,72, ..
What will be the next number in the following series? 3, 3, 6, 18, 72, ...
1. 360 2. 364 3. 288 4, 320

93. UF M YNl & &7 T 66 FrE7 & & T FH SO 9RO T%dl B | U6 o9 ¥ UeEl & Ifiumad
gy 7 B AT I A Y U © 7
1. TE LY 1l gUEy =N F IR & &4 99 gdal € |
2. W B U3 gvEY HEAT & W # o 59 G%dl
3. 29 7 Y33 qUET U & URr] & &3 §9 9%l § |
4. FH ST Y26 qET A@A F U Bl & o9 Thdl £ |

93. Out of a heap of pebbles 66 lots of equal number of pebbles can be formed. Each lot can have
maximum seven numbers of pebbles. Find which statement is incorrect.
1. 11 lots of equal number of pebbles can be formed
2. 3 lots of equal number of pebbles can be formed
3. 33 lots of equal number of pebbles can be formed
4

26 lots of equal number of pebbles can be formed

94, v fery R gnm ? What will be next picture?

o——p | | @—Pp | | P | | @iy | | g——
MMM"‘.
MM«..W,MM
s S B s S B Mot B .. e, 00 08 M.
L e 4+
L | & 2. | e——b
s 3 R s
. —
e P
4— et
3| e 4. | gy
e L —

95, & TRl X AT Y F Tt o AT 85 % AN I HeH 42 % | L X >Y 7 X-Y & 9 g ?
The sum of square of two numbers X and Y is 85 and multiplication is 42. If X >Y then value of

X-Y will be. |
1. 2 2. 4 3. 3 4, 1
96.ﬂﬁﬁﬂﬂ%ﬁ?‘c‘aﬁ@1213?%6?!78%3%13%38@3?{3{%%@%31111120°EBT®UTWT§[%1E1;T
uE § gAY B ?
1. 4008y 2. 50099 3. 3"e 50FRT 4, 4% 30fR

96. Arm of a clock indicating minutes is at 12 and arm indicating hours makes 120°angle with minutes
arm in clockwise direction. Then clock will show the time.
1. 4.000 elock 2. 5.000 clock 3. 3hr 50min 4.  4hr 30min
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Q7. U F1 ok 34 BN w1 AET 917 46.5 fEe. wW R | O s vw i wre fomm o & st 9w

500 T 9% FET ¥ | AL9E H T L
1. 6l ooH 2. 627 WH 3. 60 %, T 4. 641 uH

97. Average weight of 34 students in a class is 46.5 Kg. If the weight of teacher is added to it then
average weight increases by 500 gms. Weight of teacher is ...
1. 6l1Kg 2. 62Kg 3. 60Kg 4, 64Kg

0%, ToRET fisr % =7 30 il o 6 U e 9v RO w9 2/3 €1 ST B30 oHe B o0 S e o
T UF g IR 1/2 8 e ¥ e -
1. 215 2. 3/5 3. 26 4. TAH 9 PE T

98. If we add one to denominator and numerator each, then value of a fraction become 2/3. If we subtract
one from each denominator and numerator, the value of it become 1/2. Fraction is-
1. 245 2. 3/5 3. 2/6 4. None of These

99. famm o7 SEU @1 A B AT 35 F | THA Y B AP 80 AW ¥ | 10 A yyEra THE 7Y w0
1. 23 2. 12 3. 32 4. 35

99. Ratio of age of Vimal and Arun is 3:5. If total of their age is 80 vears. Then after 10 years the ratio of .
their age will be ...
1. 2:3 2. 1.2 3. 32 4. 35

100,521 % we 51 W fiag U= &7 9 & el % gy AT 1 T @i 60°F A 3A9 20 e @
&g T a2 30°% | w1 o deE ¥ - '
1. 1043 dfier 2. 104w 3. 2049w 4. 20J3 dex

100. The angle of elevation of top of a tree on the bank of a river from its other bank is 60%and from a
point 20 meter further away from this is 30% The width of the river is....

1. 103 mts 2. 10 mts 3. 20 mts 4. 2043 mts

' 1 27 3/ .
101, wdip 3'*’5 X379 x 3/9=(9)X o x T A EAT -

P 2 / 3/

The value of x in equation............... 3}/9 K39 x39= (g)x is

| 2.1 3 i '
-3 . -3 4, 2

102,89 a9 94w 7w A # A g 18 d oy 1 A % my feem v ofmad amg 229 &1 W B
T A e S o A SO
Three years ago, the average age of ‘A’ & ‘B’ was 18 years. Adding ‘C’ the average age comes out to

be 22 years. The present age of ‘C’ is ...
1. 24 2. 27 3. 28 4. 30
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103, T B 1 S e BT ST ot wee] nT ¥ iamawmaaﬁmﬂaﬂgﬁmm A W T AN | A

wmzﬁrsaimﬁ‘mﬁmq*:a*mmwﬁmr --------- Gl
1. 24 2. 30 : 3 6% 4. HIE T
103. The age of Ram is 6th part of age of his father. After 10 years age of Ram’s father is double the age
of Vimal. Vimal's 8th Birthday was 2 years before, the age of Ram is ............... Years.
1. 24 2. 30 3. 6% 4. None

104. 7% i § 80% feenedl st § 85% femmedt 7o 9 AW 75% foeedt 2 fawai § =4l 29 1 gl
Al oo & St 40 fermel ¥ A e o e

In an examination 80% students in English, 85% students in Maths and 75% students in both subjects
passed. If 40 students failed in both subjects. Then total number of students appeared in exam were...

1. 200 2. 400 3. 600 4. 500

105, a1 ol e %1 Fistee 9aa 5 #7a o gu A F gAY, M B € | A g 18 f1
& Wl &AL A AEAT e Uil X
130 2. 35 3. 40 4. W

105. B completes a work in a fix time. ‘A’ completes half (1/2) of it in 3/4 th time. Both complete itin 18
days . Then ‘B’ alone will complete it in ................. days.
1. 30 2. 35 3. 40 4. Nomne

106. T Tl mW w1209 8 T HmA R A U W 60% AUy ¥ |0 3H O BT e L ECR
‘A’ completes a work in 12 days. ‘B’ is 60% more efficient than “A’. Then ‘B’ will complete it in ....days
1 1
1. 2. 3. 6- 17
6 8 4 4 5
107 21 TR 2T Bl FAST4AS T 30 °E § WY WEG £ | A 99 UF 91 AW T A e u0E g 9o ¢
*Two taps fill a Tank in 45 and 30 hours respectively. If both taps opened at sametime then both will
fill the tank in how many hours?

P | temems

1

L3755 il gip 3. 15 4. 18

108. 7 =i 45 fob. =, /ey =6 e & F7 F SO A 69§ Pl A T | T SHE F Pl B
AR i) . |/ ger.

A person completes his journey in 6 hours by a car at the speed of 45 km. /hr. To complete it in 5
hours the speed of car will be ............ km./hr.

1.55 2. 54 3. 053 4. 52

109. 7% ey aRfhe JaF 39 A1, o1 gf 45 fave § 99 %71 & | vew 1S5 Tee H xfe, AL/ der A A
H, ST 20 e 9% T O g g 99 T 9l A & qf v B AT x B uW E

I, 312% dr/9er 2.0 36fd d@i/9er 3. 40f% dt/9er 4. 520k @ /der

109. A motor cyclist goes 39 km in 45 minutes. In first 15 min. he goes at the speed of x km./hr. In next
20 min. he goes at the double speed of it. The rest distance he goes with the same speed of first. The
value of X is .........

. 31.2 kmmJ/hr 2. 36 km./hr 3. 40 km./hr 4. 52 km./br

03-A 23

o


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR47
0.,03 0303030303030303

110, U%F WS S99 92 Y TR Uge 4 6. W /O A O F e & | e gl 9 16 . W /e @
I T ¥ | gud oftma am R fs. @ / der.

110 2. 6 3. 6.4 4. HE o

110. A person goes from his house to office on foot at the speed of 4 km/ hour and returns by cycle at the
speed of 16 km./hr. His average speed 1S .......o...... km./hr.
. 10 2. 6 3. 64 4. None

111. v =i 6 6. W /921 it 9§ 9 us g1ier HeM & ol & 3 9%vs | 9 &7 odT ' | HEE @
B B B . 1 diev |

A person crosses a diagonal of a square field in 3 seconds at the speed of 6 km./hr. The area of the
field is ....... square mis.
I.- 15.36 2. 13.60 3. 1.80 4. 12.50

112,978 U 0T & qAde 9T U7 BT B s O B AR g § A g % 3 A T BT
I 30 2. 459 3. 60° 4. I TEL

112, If the length of the shadow of a pole on plane ground is double of the length of the pole. The angle
of elevation of Sun is
. 300 2. 450 3. 60° 4. Not any

113. 7651 9 &1 4 99 %1 AR S0 g@eE #1/5 ® | e @ At 5v Enl -
1. 4% 2. 5% 3. 6% 4. TH H BE T

113. The 4 years simple interest on some amount is 1/5 of the principle amount. Yearly rate of interest is ....._..
1. 4% 2. 5% 3. 6% 4. None of the above

114. Tl o &1 opgle ans o7 2 39 o1 frses 8. 3840/ a1 3 99 &1 e 5. 4096/ & | & wr & E -
Some amount becomes Rs.3840/- in two years by a compound interest rate and it becomes Rs 4096/-
in three years. Then rate of interest is .......

1 1

2
I 75% 2. 85% 3. 6'3—’% 4, 8%

115. 0% AR A9 MRTER G % 10 et W W 4.40 fp. @1 1 g8 o a5 B 1 3w o amwa -
1. 1.34 gy 2. 1.54 Tweay 3. 1.44 Faewy 4. 1.64 TR

115. A person travels 4.40 Km. distance by taking 10 rounds of his circular field. The area of his field is ......

1. 1.34 Hectare 2. 1.54 Hectare 3. 1.44 Hectare 4. 1.64 Hectare

116.w% 428, A1, B % Je@r v & Sesd 396 TER 0 e s & | anfen gy 6 g -
1. 669 2. 648 A 3. 729 4 4, 68H. W

116. A circular shaped wire of 42 cm. radius is cut and it is shaped in a square. One arm of the square is .......
I. 66cm 2. 64cm 3. 72cm 4. 68cm
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117.31 7 RS g% § A 9l 7 ¥ | I0E TS BP0 Gued § -

The dimensions given in the field book are in meters. Total area of this field is .......

*27 1. 16753 T 1. 1675 Sqm
T 2. 18807 i ﬁ%f 2. 1880 Sq.m

303t [
j? 7 3. 15859 j? 17 3. 1585 Sq.m
15 4. 16259, @ i 4. 1625 Sq.m

t
I

118. <11 & 7 drierent | Tafver ofg ot @m &7 oaer ufde 9 47 |
I T 15 Tm| 16-25 2635 36-45 46-55 56-65 1669 3ERE| P

ﬁﬁﬂ% 30% 1775% | 17.25% | 145% | 1425% | 512% | 113% 100

5 amg o § aiftpay = dEm E 7

1. 1625 2. 3645 3. 56-65 4. T B T -
118. The population of different age group is given in percentage in the table given below.

Agegroup | "D10 1> 1 1605 2635 | 3645 | 4655 | 56-65 |66 & above| Total

Pfggfgggn 30% | 1775% | 1725% | 145% | 1425% | 512% | L13% 100

In which age group there is maximum population?
1. 16-25 2. 3645 3. 56-65 4. Not any of above

119. 957 = 118 ¥ &1 T awvl % uR W 307 &9 - UE 10,000 W 25 99 9% % afedl f s g
Reply on the basis of Table given in question No. 118 . How much population is of persons upto age
of 25 on every 10, 000?

1. 4775 2. 4825 3. 4275 4. 1775

120. 738 79 uig e o 9w 9w o1 5o 39 - S du7 uRaes § o SeEe & 9 & an e sy
4 Rre % W s auET '

I iy oy oRge
2. FNT FU] FE
3. iy A =Ew
4. zEM an N

120. Answer the following question from given pie-chart the number of persons engaged in service and
transport 1s equal to the number of persons engaged in .......
l.  Agriculture and Transport
2. Trading and Industry

3. Agriculture and Trading

4

Industry and Agriculture
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121. 7Y sesme Ha () ZRT 9AEE T § E wEe TRE (S 6T S el B 7
. Cul+N 2. Ctrl+M 3. Cul+S 4. =THT H FE AE

121. Which short cut key inserts a new slide in current presentation?
I. Cul+N 2. CublM 3. Cul+S 4, None of the above

122.ALUE -
| dafes Afaw qie 2.1 @fed e 3. UEE Wias g 439 9 B

122.ALU s
[. Arithmetic Logic Unit 2. Array Logic Unit 3. Apphication Logic Unit 4. None of above

123,57 #E G2 % M12 % oo #e 58 20w -
The cell reference for cell range of G2 to Mi2 1s

i GaMI2 2. GLMI2 3. G2MI2 4. G2-M12
124, 377 12 Fge7 T30 I ICEH g TEE FA A g8 A A E

i~

I | A 2. UM AT 3. EEREE A 4. FTP @&

124.1f a computer provides database services to other. then it will be known as 7
1. Web server 2. Application server 3. Database server 4. FTP server

125.fai v g wefiA B R -

1. =r&ar 9 2, wEHd gE ¥ 3. fEyEw 4, W@ YT T
125. The date and time displays on

1. Taskbar 2. Status bar 3. System fray 4, Launch pad
126,779 9 % wic eEa (=) T e ? ]

1. &% 2. e 3. TTET 4. qw fmpe
126. Which of the following is not a font style ?

1. Bold 2. lalics 3. Regular 4. Superscript

127 e fomp ¥ fbm aadil 1 g G 8 |
I o (Weefem) 2. AgAE (TiEeEe) 3. TeEel Hiew 4. @

127. Which technology is used in Compact discs?

1. Mechanical 2. Electrical 3. Electro Magnetic 4. Laser
128.URLH AR ¥ ......
I g R o 2. grEEe PEE () e
3. ghwM Er e 4. girEm e e
128 . URL stands for ....
1.  Universal Research List 2. Universal Resource List
3. Uniform Resource Locator 4, Uniform Research Locator

129. 59 W99 FFAHT H BT U T N F A 000 w5 AT B -
1. TEEE W 2. WEE U 3, EEAiTe AveT 4. Ta Al

129.To add a header or footer to your handout, you can use
I, The title master 2. The shide master 3. The handout master 4. All of the above
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Lzemmsmmmﬂwmwm?awwmw (FSF i) W &I @l
ﬁqﬁrmﬁm*f

U 3hde 2. U9REE 3. UENEE % 4, THE AT

130. Which option on the custom animation task pane allows you to apply a preset or custom motion path?

b, Add effect 2. Emphasis 3. Animate now 4. All of the above
131, v (SSie?) Y TR EEE o Teehed @ b iR el § b R a1 BT -

1. g (HREe) HAS 2. WipT AE FHHES

3. Hiféy Pagvsr #avE 4. AENSH HETE
131. Sitde show options available to the presenter include all of the following except

I.  Transitions command 2. Speaker notes command

3. Meeting reminder command 4. Navigation commands
132,30 Toeen ey vy ks (32 )Wwﬁﬁsﬁvﬁ?%mmﬁﬁﬁﬁwm%s

i, Ee 2. HEuEy 3. TEC g Tl U
132, Hf the displayed system time and date is wrong, you can reset by using _

i.  Write 2. Calendar 3. Write file 4. Control panel
133,52 01 % wege? 7 e fa & L

1. oy 2. g®M wIg 3. Hdfesw wvg 4. Tofee R
133. First generation computer systems used

1. Transistors 2. Vacuum tubes 3. Magnetic cores 4. Silicon chips
134, frmare & A ® - ' . o

1. 1024 922 2. 1024 femaEE 3. 1024 W gEE 4. I 9 ®IE WE
134. The term gigabyte refers to

I. 1024 bytes 2. 1024 kilobytes 3. 1024 megabytes 4. None of the above
135. 5991 B | & ATe TR (W) @ gt ufafefy soeer s g )

1. afse e 2. TEET AT 3. Hifsgg T=ame 4. TR AW
135. Which of the following provides a printed copy of your presentation 7

I. OQutlines 2. Speaker notes 3. Audience handouts 4. All of the above
136. Fhe & 29pw, % w9 § ot S o ® -

1. ST b 2. e e

3. faifes T 4. safeE FoReE
136. Secret-key encryption is also known as

1. Private encryption 2. Secret-encryption

3. Symmetric encryption 4. Asymmetric encryption

137.9% WWW%W@W%WW@WW@WEWWW?
1. TCP 2. FTP 3. AW 4. TTET

137. Tool that is used to transfer data/files among computers on the Internet
1. TCp 2. FIP 3.  Archie 4. Gopher
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138, o1 deiel Afafam e J ggiia /e T -
Information Technology Act in India was amended in
1. 20060 2. 2005 3. 2008 4. 2010
139. geergiive a1 B9 § -
1. W e - gew BfE / 99 - =n Rl 2. W AEE
3. wE - gy famar / Remee fewe 4. Wi o Tk / G o e
139. Electronic kiosk is one form of:
1. non-store retailing 2. Supermarket
3. Discount retailer 4. limited line retailer
140. FrETE 37 99 H UE I § - ‘ .
1. T¥ge 2. TIEYE 3. g g 4, I H BE T
140. A keyboard is this kind of device:
1. Input 2. Output 3. Word Processing 4. None of these
141. vaw Thsie &1 Tod §F & 09 wEW fear e 8§ -
The first cell in EXCEL worksheet is labeled as
1. AA 2. Al 3. Aa 4, A0
142. Corol+R %1, % o7 wgart e Fmem & -
1. ofgh ¥ 55 6 T SERAT @ U G & Mg
2. f+w gfEe o @ U9 9T e &
3. TR B AH WHien ® 09 @R & $ o
4. TN T WETE B TEE TAIRT H & 0
142. Ctrol+R can be used for
1.  Re-Open the last closed document
2. Re-Print the last printed page
3.  Re-Apply the last paragraph formatting
4. Right align the selected paragraph
143. MS Word & Ctrl+S /T % -
i 1. faafE & g 2. WEw & fom 3. Fwm Hfm 4 A e F fm
143.In MS Word, Ciuel+S is for ...,
1. Scenarios 2. Size 3. Save 4.  Spelling Check
144. BFE FAFHET (OFBIF) vEs a5 & fo g B R 7
1. wrersm 2. U UEE 3, WTIEEE TR 4. ITRUIE T
144, Which application is used to prepare a presentation/slide show ?
1. Photoshop 2. Power Point 3. Outlook Express 4. Internet explorer
45. % fae 19 & e B & 7
1. 32 2. 1024 3. T 4. 8
145. How many bits are equal to | Byte 7
1. 32 2. 1024 3. One million 4. 8
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146,17 T 21 ¥ - _

1. U e W A A S 2.

3. @R H U BICT Ged arr 9R 4.
146. A Pixel is -

1. A computer program that draws picture 2.

3. The smallest resolvable part of a picture 4.
147, fefoem fiem & -

1. H=ET W WA [5d 85U Fe (R 2.

3. uitE @ PN TR 4.
147. Digital Signature 18

1. Scanued Signature on Computer 2.

3.  Public Key Encryption 4.
148, &g U IETEIE B -

1. ErT & Jeas (W ufE seed) 2.

3. gEYIAW WEEC Aedsh 4.
148. Bluetooth is an example of

1. Personal Area Network 2.

3. Virtual Private Network 4.
149. Jeak H Feai9™ Gfed Bl § -

1. w9 firen oiifqe &a € | 2.

3. s (omwmm) der afEn s Rafa et 4
149 Network congestion occurs

{. When a system terminates 2.

3. In case of traffic overloading 4.
150. WI-Fi @t fam & -

1. IETed T 2. 9 wg fESifeer 3.
150. Expand WI-Fi ...

1. Wireless-flow 2. Wireless-fidelity 3.
151,707 =Yy w1 IamEem ¥

1. "EeE 2. wEER 3,
152. 3 + 3o oreEl wl G B 9 e 9

1. ayeieR 2. gt 3.
153. 9501 w9rT 1 e % |

1. P 2. GHER 3.
154,791 T & &9 o1 ug 9959 OO ¥ 7

1. = 2. R 3.
155. v ifgg 9 & o9 O i o ‘ol soad Adt & 7

1. ety 2. ITYOETE 3.
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A picture stored in secondary memory
None of these

e (FeemT) B qEEe AT S

Software to recognize signature
Code number of the sender

W & Jewh (dAids T Sedd)
IeRtad § B A2

Local Area Network
None of the mentioned

79 3 AT ¥ A9 Hiage e g

When connection between two nodes terminates
None of the mentioned

ars fefedt 4. 3w o
Wide-fidelity 4. All of these
ST 4. TEE
srfegfam 4. HAlGsiR
YEHE 4. gHAR
RERG 4. emigH
RmE 4. fvEs
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hh, TR R W) T AW B 7 .
P UmeT 2. WEE 3. uEge 4. T

137 Few G 8 oo oo B B B U T E
T 2. GTETEM 3. WEEEM 4, THEETETT

R e e S u e i o
OS2 2. U 3. T 4, g

RCAEH G B IEE IR
e . “
1. lsmeE 2. B/ 3. 9B 4, @@

1RO, wfEr g o wET e T
§ T 2

T 3. me 4, =g

Tal U TR 8T FeE v wyE NEE
I T EE R 2, g o, 3. o=, |, w40 uE RoEn uE

162, VI U A SARILE §TE 9 F

R I 2. oTEE, 3 3. fima, @9 4. =, FEE

63, Brsefa 7 7w R - gy W B
I, STE-AEE. A T, AEZ-HhH
3. AT, g9eg o T 4. Fastrape Brsvega

i~

Pod BPE H @ A T oRE - g udl E
[ PR, mr‘ T oA, Y-

3. TETE OV - 4. FF- R, gE-geT

!\J

1659 5y 9T 2 |
T e 2. TR 3. g 4. qIERF

6. 0 ASEE 9T E
t e 2. gEEeE 3. Ugw 4. HIEE

oy

)
o,

L)

167 Fomr Torfery 4 4 972 T B
b BEET SEed EoamEn | _ 2. 99 qI9E 9 HE TE E AL |
3. OE EEET WHE 97T ke %9l B 4, 30 9E F weq H B | GEE T

168 Freifafas 7 2ug a3
!, WITF%TF““?”FT%’?‘)[gi 2. T B W 59 9gd ol § |
3. oy feere w1 ey vEET R 4. =mam sy & WU IwEelt

169, 3EAIaE | wen W AU i wie W oare E -
i, @vETE 2. FEEE 3. aTgET 4, =ugE H ¥ B T |
P70, 9 A G AR HAT B AT E N o
T e 2. FaATe 3. FEHETT 4, Iuad H H HiE AE |
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© 1715 TegE | | BN - O AR sreds R w7
1. Y T g H S A | . T YS @ 9 St €
3, M g e B Cisoili - gic il
172. 5% fohar &9 @7 diy 98 SO 8, 59 ®Ed B
1. wwmedes fpar 2. wge fem e e 4. wEHE
173. qejepTieres TERaT %7 SRR € |
1. fshg orft deee dred e | . TERyy weheal oy uewar ¥
3. E SR T | . TS E |
174. ‘TR ove o fore averdist ¥ |
1. & 9fy 2. IUWE g . T 9 4. wHAS qH
175. ‘=0BI0T WA AT gl % fu v o B
1. ST sy 2. VRO - [ONgE 3. dUmETe 4. =R 9
176. ‘ate famm gerey @1 ord & |
1. g ey s 2. G Ed gy e . T S 4. ey Rgemn
177. ‘92791 907 S99eR & 9E & AR g2 T
1. Rrepr &= siEn | . T o T S
3, ajyr g1 Yagt gy - By a9 &1 2 | . Toue @1 o | wmre |
178. BALLOT %7 9] &< 9= ¥ |
1. wae 2. ORI I 4. FOEF - 9
179. BUREAUCRACY & guHis 2=l o= & |
1. SHad 2. SMEA-EE I Cr I 4, TS
180. MINUTES & guraries &< s ¥ |
1. @y 2. fewli Fama - s 4. Al
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